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= 0 A Al 3 N A
20178 = S0l & LB H ==t
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MAT - AL B
IS4 AL &= (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
F=E1 4,665,997 3,194,511 1,471,486
Xl 427,000
Al 4,238,997
AT - A4 2 3,165,997 1,694,511 1,471,486
N 427,000
Al 2,738,997
OISAEE AlE &5 2,548,199 1,345,985 1,202,214
Xl 427,000
Al 2,121,199
OlsasS AXAFY 952,990 712,016 240,974
401 Al HI L £ 0HHI 952,990 712,016 240,974
01 Al& B 950,000 710,000 240,000
Ollsas= E&XAY 950,000
PSMHE 232 & 350,000,000 = 1Al 350,000
DA SHC A 600,000,000& * 1Al 600,000
03 Al 201 Y| 2,990 2,016 974
OA&EE0idl 2,990,000 =14l 2,990
OISa&4% HES AFY 983,309 0 983,309
201 LBt | 600 0 600
01 AP 22| H| 600 0 600
O1 gbtf==2H| 600
DA Z2OSH(EST)R L 600,000 14! 600
401 AlEHIZL 2 0HY| 982,709 0 982,709
01 Al&H| 980,000 0 980,000
O4AazxzH HEe AHY 2L 2L ZA
120,000,000 =14l 120,000
OAaxzH AL W= ARI2AE HES2
A 300,000,000 « 1Al 300,000
OXNEH Al-e| 23 SMLE HELZ2
Ab 450,000,000 * 1Al 450,000
OXNEH L2 55 A2 AE I8
L ™I 2 A} 60,000,000& = 14! 60,000
OXNAEH Eihel Hils ARR22EAIE iS4
3 WHZ2A 50,000,000& = 14! 50,000
03 AlE 201 Y| 2,709 0 2,709
OAlI& 20| 2,709,000 x14! 2,709
AR AIAE HEAIY 611,900 633,969 N 22,069
Xl 427,000
Al 184,900
401 AlEHIZL 2 0HY| 611,900 633,969 N 22,069
N 427,000
Al 184,900
01 Al& H| 610,000 630,000 A 20,000




2M: =&
M MdE - Al 2
S ISddsE AE &5 (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OLA2S A A 610,000
DHeHS Hehzel 2etxl 200,000,000 x 14! 200,000
X 140,000
Al 60,000
PSME 22 4= 200,000,000 =14 200,000
Xl 140,000
Al 60,000
DRSS Hdscel HE 210,000,000& =14 210,000
X 147,000
Al 63,000
03 Al 2 THHI 1,900 3,969 A 2,069
OAIE = HHI 1,900, 0002 14| 1,900
MRE =2 3= 617,798 348,526 269,272
OS24+ 2o 417,078 247,518 169, 560
201 LBH2E| 170,868 156,468 14,400
02 =224l 170,868 156,468 14,400
O1 3232232 % AMA 19,868
DA AL ALY S E(23]) 5,000,000& =14l 5,000
&858 NUSXH 520,000 x1CH*90/100 468
DE=AME HEIIR= 1,200,000& = 12& 14,400
O3 A€ ZHI =Xt 143,000
DOI2(AAR)4+E i3 RAES
69,000,000 » 14! 69,000
DOtS(AR2)d+E =Z2 27
74,000,000 » 14! 74,000
O4 Xt - det] 8,000
>Ite SFH & =2l 8,000,000 » 14! 8,000
206 M= Hl 20,400 16,050 4,350
01 = Hl 20,400 16,050 4,350
OASAZT(HA) 15,000& 5008 7,500
O&F+8 &9 15,000& 200 3,000
OZF=8 HUZH 10, 000& *600H 6,000
OXFRHIES (Y=g A5, MSEN)
5,000& *780kg 3,900
401 AIEHI L 20 225,810 75,000 150,810
01 Al bl 225,000 75,000 150,000
OXBt4+ Mg 0IA&S ABB2ITA
5,000, 000 *20J4 2 100,000
OXdts A& OE Xots IEXA 293
5,000,000 «5J4 & 25,000
OAREx=EANE ASFLI WM
5,000,000 #2004 2 100,000
03 Al 2 H Bl 810 0 810




2N =21
M MAT . AL B
Sl WRE +%2 22 EERED
K- ZE SR (3) - HRAY - BaS il HImEET
OAZ =t 810,000 » 14! 810
S oA 200,720 101,008 99,712
401 A& HIZ 2018 200,720 101,008 99,712
01 A& HI 200,000 100,000 100,000
O2z=8l&aia AL HI 5,000,000 *400H 2~ 200,000
03 Al 2 THHI 720 1,008 A 288
OAl& Rl 720
HeEs(=x) ,500,000 1,500,000 0
HeH K& ,500,000 1,500,000 0
=AY SE3H Ao ,500,000 1,500,000 0
701 JIEt3I HEEES ,500,000 1,500,000 0
03 SIISELES A ,500,000 1,500,000 0
OXga== (3=
,500,000,000& 1 ,500,000




